Topic_|=] Expenents

10,000 = (04 10_is_the base -
Je count the, zeros L is +h Q%_Q__E
+o de:!frmln%gi-hc. l =

eXonent

l]E)( ponentia] form

l[ 6*= Lxb =36 x_&auweol)
2. 6% 5x5x5= 125 [ Five c,u,beaﬂ
3.

3%= 3x3x3x3=Q] ([ three 1o the fourth powec)

)
i
!

. ké&mdg.gd Focm = Bb2 38

K FExpanded form= 500,000 + 60000+ 2,000 ¢ 300+
Bo + 4

(5x10°) +/bxm‘*)+/zx/o'*‘) ¢[3xi0) e (Rx10)* (’—!xlo)

_@M&M/ Exponents | I



 Topic. -2 Properties of Operations
_Propecties of Addition

/ COMmuf-a-hvc. a+b= bto. /H)e omler)

Associative.: 0 +[btc)= /mb)m / the * arounma")

3. Idenm-v QtD= O

Pmped-i es of Mulﬁp[ ication

| Commutative: axb=bxo
2 i Associotive: ax(bxa /axb) XC.

3. Idt’.n-}-i'l-y’ ax|=

¥ | Associative Will always have. pacentheses #




Topic I-3  Order of Operations

__Elease, Excuse My Dear é\m{- E_faj}\/

.| Parenthe ses

| Exponents
| Multiplication\, fm lef+ t right

bivi&'lon

| RddiHon N, From left 1o right

Subtraction

¢ 21-1-}(1{—1-23)1»7_ ¢« YL +23 42
24 (H+8)+2 24+ 8+
24+ |2 +2 *t8 +2

2 +2 M
N

&




Topic -4 _Distribufive Proppr+>/

5%27

5(20)* 5(7) or 5(20+7)

L6060t 25

1256

9(32)~ &(2)
8(32—29

(20)

240

8(7+23)= 8(T)+ §(23)




—Topic_|~5 Evaluating Numerical Expressions
_____ | PEMDASK (Dor't forget fo follow the.
_ _chﬂL_QPwﬁpUMLmLﬁMDW
| 'l'(g."zl"é_. I) £.4 * Line vp dcan&%g
4.3+ 3.3 5= et
7.0 ] t 4. 3
7v¢6
2. ](32+81)-31[+5.¢ 3.2
[ iL3-ai] +s5p 2L
4.2 +35. 8 ~ 3
[14 0] 'g.2
= +5.%
—[H.0
2 42 +[(25-19.6)x7.2] o,
yz +[ 0.5 x7.2] Tal4.5
le -+ “15_ (90 /0. 5
¥
L'1(:! + 15, 0 Xz??c;
QI.GO Y g )y ™
71550
75360
4+ o™ Y
21 .6 0




%pic, [~ b (,lsin_c} Variables b Write Ex presslans

——

variable: expressed as a [edhec (x)

— 1olgebraic. expeession: . phease that hag wa..l-_lemt_'_

one_\Variable _and one o

(3+ x)

Coefficient: the n_ummc%m+_LLm.ulﬁ_ptixaL_
by the variabla.

(3x) 3 is the coefficient
X_15__the variable.

EXAMPLES®

ﬁive minutes More. than time + = t+ 5

2. +m_MQr_deccemad_y &_humber n = [0-n

Six_ Hmes a Width W= bXW ar bW or @(w)

bW

N
Nn__nectarinea, glivided by three= N3 oc 3

Ligh-l— more than four fHimes
an_emount X B

Gy + 8

..

I

1.

[2 +timesS a. _humber g9 129

mfht_d/_é%cen&_chc a._au.mjyn m_and. 1P
- (&

—
.

8.
q.

_p,pfﬁnLcLaddﬁLm_ZL@nnies A2+ p
& _less than A tHmes a numbesr Z

3z -5




Topic. I=7_ Poarts of an Exprestion

*Term: each part of an expression that is

Separnted by o plus or o _minus

|
|
i
[

Sigh _is Called o term.

X /Zr ""’% - 19 * [here are 3 termg :

. [2vr

r
2. 7

3. 19

Coefficient' O number +hat iy multiplied

by__a variab le,/ ItHcr)

KX [n_the term (2r _[§L_ s the Coefficient

| of r
¥ |n this product, beth [2 and r  are
Cactors.

H+ 9w - Hz

X There qQre 2 4ermg: l'—_{ ‘7W( w ird

x\what is t icient of w: 77

xTodentify the factocs of Qw: T and w




_ Topic "% Evaluating Algebmic Expressions

*Evaluale: means 4 Findl a4 valuue of an
{X pression. .
Substitubion: replace. the variable. [leter)
with o Aiimber.
I ¥Evaluale for x= (¥

L0+ 3%
20 + 3(14) ¢ Substitub.
5{{)4‘ "fZL
OCL
 Bengs
*x+ = B =18 * ((w)*A w=3 ——
|1B- 8 (af\'fq
~ /7 \ 7/
LO 19+ 9q
~ 7
2]
#* Ax Y, x= |2 '-k37_+‘#"~21 2=5
| (2x12) = =y (3x5) t4 - /2x57
7_l—i l/-/ 15 +4/- [o
b [‘? 1))

/

e,




____:/_—QQILJL‘?_JAZAQ_EXPN_UJO:W; ‘1o
Describe. PaHerns

tInput/Output Table: a table of related =

values with o Pattern

[NPUT | QUT PUT ¥ What is the tylahonship

484 L) +(84) =42
4 bl 433 -z.(fab) 33
50 | 425 $(50)= 25
- 422 ?
/¥ 3p Z

¥ The pattecn is '2.( l npuﬂ dutput

K |-P-]-¥ Ln put

x f2x

L usimtht_pa&mn_h_—ﬁm_Me_mlMgMIUesﬁ

\
\\>-. "é:(zz)--ll INPUT | fUTPUT
2 (30)= (5 $27 |4l
*30 |¥)s




] ike TermsS: terms that have the Same Variable

Such as y and _ay, are “lite feoms.”

e X +X+tX —* Al 2 teemr are N like derms”
= |y tly t [¥3The Coefficient is 4
= 3% — Add_the c(oefficients and
Write +the variable o
Combine ” like. fermg”
Xk 3y -y The Variable. DOES NoT
= dy = Ay Change. when Cambancgg*_'
=y “like {ermy!
Examples:
[ o W N

K X +x=(axh
N~

¥ ’—}\/-y '-‘-‘@v

(_//

P

% ax+ ax * Ax T bx)

X y+by +]
N ’_

ey +

¥

~N S

__Topic |-lo_Jimplifying Mgebmic Expressions



Topic [-ll _Writing Equivalent Expressions

%‘_E_QM%Expm&mmmhM_fme&Mm;_w

reqardless of which

humber 1S Substtuted

foc_the fame variable.

,\E)&%Ql&‘ in the L presrions
3 Hy-1)=_3(Yx)~ 3(1)
\ ! S/ =
= |Ax~- 3 K Use Hhe distributive
So, 3(Hx-1) = [ax~ 3 proparhfl
AXFH = A(_&)*_a(a) X Find & Commen
= A(x+ ;ﬂ, Pactoc |

So, Axtl= 3(x+2)

’

A X +3) = Ax +b

NN e

[Hyx-1) = 24% -

B

N [4

6

Bx+2 = 2(Hy ¢])




Topic W2 Equivalent Expressions

1Ls 3y + 3 equivalent Yo ?(y«»l\, ?
# USe the distribative propcr-\-q!

Byt 3= By +1)

/

3y+ 3 = 5%*_{ YES! TM/_MMLQ}_

¢ 1s 3\;/*3 quvalen{— to 3y + |

3\{:«!-(_3_?é 3\1'+._I.
3¢ 1 No ! They_are _not

n%u:\m(enf—

' Ts g_\/ +L/j_____y = \!+LJ

dy =2y ocy

# Combine “[(ike Jlerms" —



TO,DFC [=13__Problem Lfo[vingr
Mate an O@amizpc{ Lis+

A fam ly has J¥7 00. They Spent ¥~ 15 each day
How much _money is letd offec 3 days,

______%*_E,Wd‘m[sl and 4 day_t?

o Y= +he number _of days of thre trip

(
T~ &700-475x x | 700-75%
3| % 4715
5% 325
9(¥ as
K_T100-75(3) e 700~ 15(qQ) —
100- 225 100~ 1S
I aAsS

k_700-15(5)

100~ 3715

325

—




